MU 2019 (Feurzeig) Final Exam practice

Name:

Resolve this chord as a leading-tone seventh chord to the major triad it would typically precede.
Then re-notate it in each of its three other possible enharmonic re-spellings, and resolve each chord

appropriately in similar fashion.

Write the indicated chords.
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Analyze the following modulation with RN’s. Analyze the fourth chord as a pivot, with dual
functions in the original and in the new key.
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Realize the progression below with good keyboard voice leading.
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Realize the modulating progression below with good keyboard voice leading and provide RN analysis.
Hint: the third chord is an enharmonic pivot chord, with different interpretations in the old and new keys.
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In addition, there will be formal analysis of 1-2 entire movements.

To prepare, you should:

a) review all the pieces we have analyzed in the second half of the course, and
b) listen to and analyze the movement handed out in class.



Franz Joseph Haydn
Sonata in B Minor

(1776)
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